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Full Marks : 80

5 " ‘Pass Marks : 24

‘Time': Three hours

for the questions.

PART-A (% -9ig)

Q. No. 1 (i-wvi) carries 1 mark each
Q. Nos. 2 - 7 carry 2 marks each

Q. Nos. 8 -1 1 cm‘ﬁj'4 marks each

Q. No. 12 carries 6 marks

PART-B (2 - &)

Q. No. 13 (i-vi) carries 1 mark each
Q. Nos. 14 =19 carry 2 marks eaclt

Q. Nos. 20 - 23 carry 4 marks eacl

Q. No. 24 carries 6 marks

Total (PART A & B):

Tolal number of pages - 16

» The figures in the margin indicate full marks

Ix6 = 6
- 2x6 =12
4x4 =16
6x1 = 6

Total =40

Ix6= 6
2x6 =12
4x4 = 16
6x1= 6
Total = 40
40 + 40 =80

Conld.
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(11)
(iii)

(iv)

(v)

(v1)

PART-A / %-wig

Define involuntary unemployment. ,

WRRTE @EE W @ |

What is effective demand ? 1

e sifza e

What do you understand by depreciation of capital 7 _ 1

TR S s B @

GNP = GDP - ___ i (Fill in the blank)
. | | 1

GNP = GDP - ! (97 2 FA)

What is foreign exchange market ? | : 1

e Rt e e

Which. of the following transactions are included in the current

account of Balance of Payment ? | 1

SHETAIEE O 5foTS AR W [WEERS (O Ermsfs wuge =7

(1) Import and Export of goods

WRIR SR @3 K

(b) Import'and Export of services
GRIA SRR G3R QW

32T ECON (BENG) \ e [2]
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() Unilateral lransfor

O e i
TR i

(d) Al of the above
T Y ~ -
AT HufE
(Choose the correct oplion)

(7 Teals (WE TG

N

Write the differences between GDP at market price and GDP at factor cost.
| 2

TE W& GDP 3R Beolia I GDP-ag T 22y (el

OR/®ea

| Write one similarity and one difference between intermediate goods and

-capital goods. T+1=2
ST TRy AR S R T AP SR G oA A
-3 W}ﬂat do you understand by ‘Paradox of Thrift’ ? 2
e A1 oot R TS @
L) e e ' Conld.

32T ECON (BENG)
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o7

OR /&)

What ix apgrrepate supply ? Explain.

ST ey D & i
NRER W e Ry

-

Write fwo differences between direct tax and indirect t

ST W Q] ST W@ ey w1 e @l

What are the components of high—'powered money ?

TR TR YA A A7
- OR/®%3!
Define Bank Rate and Cash Reserve Ratio.

TE T GR oM ATH WA WG @A |

ax.

Write fwo differences between Balance of Payment and Balance of Trade.

ARTAAR Aol GR8 AT ATSR W4 76 AN & |

- Write in brief the ideas of fixed exchange rate and flexible exch

P oo 2t e siffeAle R Q@ 029 9 wieomret rpan

32T ECON (BENG) : (4]
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4. W crore

o3

What is |
S INVestng v ‘ ‘
T eaanent multiplier 2 1f a new irrvestnen! of

s vy e N\ 33 r U [ (1{
nereases National Income by Re 1200 crore, caleulate the value

mvestiment multinlie s value of MPC?
tiplier th

- In this case, what will be

| 14274

Q‘:; e e o _; ‘ ~ ‘ e ‘ . 3 4'{1\ '}1!»/:’;
SN e R e 7 300 @B Ve wwger Aeicanal gy w1200 L4

o5E LAY

3% W, o %Qm'n SOTER WA Sje] 20al | 0, MPC-as
OR/54l -

Briefly discuss the components of aggregate demand.

T AT | A PG TG T A M B 18 S R A g

e

L) S

ANDE FIMK \a"fﬁm 'ﬁ\C“_C?f WTC_TIT’T &N

ool

9 Write differences between the following concepts - (any two) 2+2=4

S ——

S AR W AL @ & (@ 7l5)

(i)  Autonomous iﬁvést‘mcnt and Induced investment.

w7 e 9 wieree [ |

(i) Ex-ante consumption and Ex-post consumption.

arggifere GoCel @R faore ToiCel |

| ' (51 ~ Contd.
32T ECON (BENG) | ‘
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tise « .1 propensity to save
() Marginal propensity to consume and Marginal pro}

] o o e PR . oy - ¥ » ‘1Y
WS el ool qay wifus Ay @99 |

"ot : snsity to consume,
(10) - Marginal propensity to consume and Average propent Y

TS THirell 2ol R AT Seirll 449! |

10. Discuss four mairf functiQ.ns of Central Bank.
@?W@W 57?7‘5231 SRfiic kel
QR/ gLqr |
Explain how conﬁnercial banks create credit._ \ 4

i % SeIE w9 7B T A FE

11. Discuss the components of Government Budget. 4

FEEE] AN CAMFYZ Sl Al

32T ECON (BENG) 6]
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| OR /&efqy
E Detine the follmviny‘ : 1+1+1+1=4
NSRS o 5

(1)  Fiscal Deficit

SRR 56

| (11) Primary Deficit
=1 R
, (1if) Planned government expenditure
LIESOEIS W’ﬁ’t 3]‘*1
' (if7) Non-planned government expenditure.
s RS TR

|
12, Explain how GDP is calculated using Income method. | 6
| o #@fed AR Fed GDP %l T 2, < S|

OR /144 -

GDP can’t be used as an index of country’s welfare.

6-

Discuss the reasons why

GDP (& (A0Aa TR TP IR FAS A AR DEPTR S <A |
_ : ‘
| 32T ECON (BENG) (71 Contd.
!
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13.

(i)

(i1)

(iii)

PART-B / 4-5i2
Define sustainable development. 1
AzEN CHann WG @ :
During British rule, decay of Indian handicrafts was caused by‘——-
' 1

&l =i Trre T2 oere TEh %

(1)  Discriminatory tariff policy of the British Government
[ -

o GG ~ S Y -
0% ATLIED RCSHES O] W0

(b) Competition from machine-made products

(c) Change in patterns of demand

Sifwdie wame wifaedq

(d)  All of the above

Toee ARG
(Choose the correct oplion)
(%7 Tl (s a1s)
In which vear the NITI Aayog was formed ? 1

S/ (NITI) S (@R AGE 50 341 TR

32T ECON (BENG) [8]
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¥

ter ¥ r
ditference botween ‘Labour Force

9

(f‘v) What is the and “Work Force’

“;\ L >
\_‘.:K]u.ﬂ Qa8 Cast o v o v
INT QSN € Nx“ L ‘QJ "I(';ﬂ ')ﬂb{lﬁ]'{s ’7‘] ?

(©) Mention one sjmil s adopted by India and

arity of the economic policie

Pakistan, )
SRS 7 AR it R weltafon TR @ ATD ST T
(v1) The ‘Great Leap Forward’ campaign in China focused on — _
1
ST A 2 Jol (Great Leap Forward)’ A T4 GFE 21—
(a) Privatiéatioﬁ
aﬁ—rﬂv&m
!

(b) Widespread industrialisation

forma <l SRR ARG

(c) Developinent of services sector

Rl wed ke

(d) Economic reform

weffafes ACER
(Choose the correct option)

(%% CEh ([g 913)

. ;
30T ECON (BENG) [9) Contd.
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14

ymy under
A ‘ s ) ' . ‘ conomy u
Mention fieo major industrial seetor reforms in the Indian € J

2

the policy of liberalisation,

R S  ff vy o] ACEIT

Y e N g 3 Lrnt 7
SRR RIS WPiite SRR wefea g (g oz #4

CIRY W
OR /<2<

Write about two positive effects of. LPG policies in the Indian economy.

2

TR weRIfere LPG Tfed 76 e eeid Red @il

Write two merits of GST.
GST-93 7o 7[[R4l &eal |

OR /9t |
What is demonetisation ? Mention one positive effect of demonetisation in

the Indian economy.

a2, SEON WL MIEREIR 36 GI9E 2R Ta @ |

32T ECON (BENG) [10]
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What is struc - ) vhich sector
hatis structural composition of an economy 7 As on 2021, which se

1+1=2

- b :
contributed highest to the GDP of India ?

<

R =y Co ot TR EEA
L WANTNG 510 & . Pz 25F (S (B 0E G
SNISUAETE 9igm F) ¢ 2021 FHigw Glarsa GDPA U (FET LAY

s % .
i< { |<<¢ ?

OR/G¥4l

Write two characteristics of small-scale industries.

~

=2 T 7o WY |

Write two differences between economic infrastructure and social

infrastructure. | 2
| AT R G ANEE AR TG 7 ST G|
OR /<441
Write about two problems faced l?y the power sector in India. 2
e wates cREg b AR REE e
(11] Contd.




19.

Yot ber ‘ . India to
‘\ll‘( NH‘J !H’., ”“'\"q;l”‘ui U”lh"lil‘:('l‘ hv fh'o (,(;vl'fhlﬂ"ﬂ' {}f

mprove apricultural marketing,

yer - i ORI § i . rifr ,_;,r:‘r/( ;/T".;-.il
’,'.-f U TAG Tael] EITE Haaa Bl 908 /A p/ﬁ’/ 'jﬁ; AALE7 (7

OR /%41

What do you understand by diversification of agriculture ?

=7z Rharmd aA0e 4 @R

What are the thiree main approaches undertaken by Government of India

to alleviate poverty ? ' 2

7ZEel REE T TS W il 2 ol JEeite § Sl
OR/ ¥l

Write a short note on MGNREGA. 5

MGNREGA-«# faura «afs wisfieg G (@

32T ECON (BENG) [12]
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20. Discuss the goals of planning in India.

SR Al S WAl w0 |
OR/9%l

Briefly discuss fwo positive and fwo negative impacts of Green Revolution.

2+2=4

& Reitam 76 @9s G2 5 HAIgE deR FAoAE AR bl S|

Wrile a comparative note on the demographic indicators for India, China

~and Pakistan. 4

Ww.ﬁﬂw e e o, 01 @@ AAfwie  alt gemTgEss

T 2w I |

OR/9%dY

(i)  Write [wo reasons for rapid economic development ilf‘ Clitna, . <2
S o WA [T Qﬁ:’asmq’mim : weS

i | ~ Contd
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~ v ) ~ [ —~ - . .
liSaciios 27 CUECSS CReE T ke ek |

ES

22. Write about different types of unemployment. : )

@W lsli\zﬁ G {':r":'@ ‘l%'q‘t?:. mTl

23. Is economic growth, a cause of environmental degradation ? Justify you

answer.

T ~ - AL v vy - -t X 02 Y -~ NV s
G2AfSw Tagm F wifara Gnn 2evw «= b wrer (o TEEw Hers 1 we
OR /523y

(i)  Write two causes of global warming,.

| R TR 75 R R

(i) Suggest two measures for attaining sustainable development in India. .

SIREIE IETEN TnEe A T A0 AT Al |

32T ECON (BENG) . [14]
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24, What is organic ¢ 145=6

arming ? Discuss its merils and demerils.

R SR RN 97 57 aae SRRy wicElsal el

OR /24t

What is Human Capital ? Discuss the sources of human capital formation.

1+5=6

~

T TR T2 AR I TSR EOA S|

]

| x
!

|

]

|

:

|

|

|

|

]

]

{

|

|

i

; :
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